	
	Вариант№1
	Направление ветвей
	дискриминант
	Количество корней
	Количество точек пересечения с осью OX

	1. 
	4x2-7x+3=0
	
	
	
	

	2. 
	-x2-10x-25=0
	
	
	
	

	3. 
	2x2-4x-1=0
	
	
	
	

	4. 
	x2+2x=0
	
	
	
	

	5. 
	4x2=0
	
	
	
	

	6. 
	x2-64=0
	
	
	
	

	7. 
	Вывод
	


	
	Вариант№1
	Направление ветвей
	дискриминант
	Количество корней
	Количество точек пересечения с осью OX

	1.
	x2-10x+9=0
	
	
	
	

	2.
	-x2-6x-9=0
	
	
	
	

	3.
	4x2-8x-3=0
	
	
	
	

	4.
	x2+5x=0
	
	
	
	

	5.
	5x2=0
	
	
	
	

	6.
	x2-121=0
	
	
	
	

	7.
	Вывод
	


